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FHITHSR1 : 5 set ip default next-hop £ 13 25 i 1 I B9 SR M BE R

AEBDERAUTERE :
R1

Rl#show runni ng-config

Bui | di ng configuration..

!

!

interface Ethernet0/0

i p address 10.100.100.1 255. 255.255.0
ip policy route-map bl ah

!

interface Serial1/0

i p address 10.10.10.1 255.255.255.0
!

interface Serial 2/0

i p address 10.20.20.1 255.255.255.0
I

router ospf 1

!/-—-- OSPF is not configured on Seriall/0. | o0g-adjacency-changes network 10.20.20.0 0.0.0.255 area 0 net
10.100. 100.0 0.0.0.255 area O ! ip classless no ip http server ! access-list 100 permt ip host 10.100
host 10.200.200.4 ! route-map blah pernmit 10 match ip address 100 set ip default next-hop 10.10.10.2 !

R2

R2#show runni ng-config

Bui | di ng configuration..

!

!

interface Ethernet0/0

i p address 10.200. 200. 2 255. 255. 255.0
ip policy route-map bl ah

!

interface Serial 1/0

i p address 10. 10. 10.2 255. 255.255.0
fair-queue

!

interface Serial 2/0

i p address 10.20.20.2 255. 255.255.0
|

router ospf 1

I--— OSPF is not configured on Seriall/0. | og-adjacency-changes network 10.20.20.0 0.0.0.255 area 0 net:
10.200.200.0 0.0.0.255 area O ! ip classless no ip http server ! access-list 100 permt ip host 10.200
host 10.100.100.3 ! route-map blah pernmit 10 match ip address 100 set ip default next-hop 10.10.10.1 !



BriE RG24 1

£ Fld5 Sset ip default next-hopft , HEHAKRPEFEENHEHAN , FAEEER — TRERBHIE
Do



Rl#show i p route 10.200. 200.4
Routing entry for 10.200.200.0/24
Known via "ospf 1", distance 110, netric 74, type intra area
Last update from 10.20.20.2 on Serial 2/0, 00:11:48 ago
Routi ng Descriptor Bl ocks:
* 10.20.20.2, from 10.30.30.3, 00:11:48 ago, via Serial2/0
Route netric is 74, traffic share count is 1

Rl#debug ip policy

Pol i cy routing debugging is on
*Dec 4 12:50:57.363: |P: s=10.100.100.3 (Ethernet0/0),
d=10. 200. 200. 4, len 100, policy match *Dec 4 12:50:57.363: IP: route map blah, item 10, permt
*Dec 4 12:50:57.363: |P: s=10.100.100.3 (Ethernet0/0),
d=10. 200. 200. 4 (Serial 2/0), len 100, policy rejected -- normal forwarding *Dec 4 12:50:57.431:
I P: s=10.100. 100. 3 (Et hernet0/0),
d=10. 200. 200. 4, len 100, policy match *Dec 4 12:50:57.431: IP: route map blah, item 10, permt
*Dec 4 12:50:57.431: |P: s=10.100.100.3 (Ethernet0/0),
d=10. 200. 200. 4 (Serial 2/0), len 100, policy rejected -- normal forwarding *Dec 4 12:50:57.491:
I P: s=10.100. 100. 3 (Et hernet0/0),
d=10. 200. 200. 4, len 100, policy match *Dec 4 12:50:57.491: IP: route map blah, item 10, permt
*Dec 4 12:50:57.491: |P: s=10.100.100.3 (Ethernet0/0),
d=10. 200. 200. 4 (Serial 2/0), len 100, policy rejected -- normal forwardi ng R2#show ip route
10.100.100.3

Routing entry for 10.100.100.0/24

Known via "ospf 1", distance 110, metric 74, type intra area

Last update from 10.20.20.1 on Serial 2/0, 00:11:42 ago

Routi ng Descriptor Bl ocks:

* 10.20.20.1, from 10.100.100.1, 00:11:42 ago, via Serial?2/0

Route netric is 74, traffic share count is 1

R2#debug ip policy

Pol i cy routing debugging is on
*Dec 4 12:50:57.779: |P: s=10.200.200.4 (Ethernet0/0),
d=10. 100. 100. 3, len 100, policy match *Dec 4 12:50:57.779: IP: route map bl ah, item 10, permt
*Dec 4 12:50:57.779: |P: s=10.200.200.4 (Ethernet0/0),
d=10. 100. 100. 3 (Serial 2/0), len 100, policy rejected -- normal forwarding *Dec 4 12:50:57.839:
I P: s=10. 200. 200. 4 (Et hernet0/0),
d=10. 100. 100. 3, len 100, policy match *Dec 4 12:50:57.839: IP: route map blah, item 10, permt
*Dec 4 12:50:57.839: |P: s=10.200.200.4 (Ethernet0/0),
d=10. 100. 100. 3 (Serial 2/0), len 100, policy rejected -- normal forwarding *Dec 4 12:50:57.911:
I P: s=10. 200. 200. 4 (Et hernet0/0),
d=10. 100. 100. 3, len 100, policy match *Dec 4 12:50:57.911: IP: route map blah, item 10, permt
*Dec 4 12:50:57.911: |P: s=10.200.200.4 (Ethernet0/0),
d=10. 100. 100. 3 (Serial 2/0), len 100, policy rejected -- normal forwarding

Serial 2/0 <M1+ B BAritzut MBS B RH KBS , XA BIE R H TR A,

Rl#show ip route 10.200.200.0

% Network not in table

R1#

*Dec 5 13:26:27.567: |P: s=10.100. 100. 3 ( Et hernet 0/ 0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:26:27.567: IP: route map blah, item 10, permt
*Dec 5 13:26:27.567: |P: s=10.100. 100. 3 ( Et hernet 0/ 0),

d=10. 200. 200. 4 (Serial 1/0),len 100, policy routed *Dec 5 13:26:27.567: |P. Ethernet0/0 to
Serial 1/0 10.10.10.2 *Dec 5 13:26:27.655: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:26:27.655: IP: route map blah, item 10, permt
*Dec 5 13:26:27.655: | P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 1/0),len 100, policy routed *Dec 5 13:26:27.655: |IP. Ethernet0/0 to
Serial 1/0 10.10.10.2 *Dec 5 13:26:27.727: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:26:27.727: |IP: route map bl ah, item 10, permt
*Dec 5 13:26:27.727: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 1/0),len 100, policy routed *Dec 5 13:26:27.727: |P. Ethernet0/0 to



Serial 1/0 10. 10. 10. 2

ROITEE2 : FRAZAR BB set ip next-hopi S 1T R H

D EAATERE :
R1

Rl#show runni ng-config

Bui | di ng configuration..

I

I interface Ethernet0/0 ip address 10.100.100.1 255.255.255.0 ip policy route-map blah ! interface Seri
i p address 10.10.10.1 255.255.255.0 ! interface Serial2/0 ip address 10.20.20.1 255.255.255.0 ! router
!--- OSPF is not configured on Seriall/0. | o0g-adjacency-changes network 10.20.20.0 0.0.0.255 area 0 net:
10. 100. 100.0 0.0.0.255 area O ! ip classless no ip http server ! access-list 100 permt ip host 10.100
host 10.200.200.4 ! route-map blah pernmit 10 match ip address 100 set ip next-hop 10.10.10.2 ! end

R2

R2#show runni ng-config

Bui | di ng configuration..

|

| interface Ethernet0/0 ip address 10.200.200.2 255.255.255.0 ip policy route-map blah ! interface Seri
i p address 10.10.10.2 255.255.255.0 fair-queue ! interface Serial2/0 ip address 10.20.20.2 255. 255. 255.
router ospf 1 /--- OSPF is not configured on Seriall/0. | 0g-adjacency-changes network 10.20.20.0 0.0.0
area 0 network 10.200.200.0 0.0.0.255 area 0! ip classless no ip http server ! | | access-list 100 per
host 10.200. 200.4 host 10.100.100.3 ! route-nmap blah permt 10 match ip address 100 set ip next-hop
10.10.10.1 ! end

Wi BB 5 47 2

B FE A Ssetip next-hop , MHEBSRIIRBHRFREFET—810.10.10.2, MR B WEEHE
BERPEE , WT —BEaim R et X $dE 2 TR B,

Rl#show i p route 10.10.10.2
Routing entry for 10.10.10.0/24 Known via "connected"”, distance 0, metric O (connected, via interface) Routing Descriptor Blocks: *
directly connected, via Serial1/0 Route metric is 0, traffic share count is 1

Rl#show i p route 10.200. 200. 4

Routing entry for 10.200.200. 0/ 24

Known via "ospf 1", distance 110, netric 74,

type intra area Last update from 10.20.20.2 on Serial 2/0, 00:11:48 ago

Routing Descriptor Blocks: * 10.20.20.2, from 10.30.30.3, 00:11: 48 ago,

via Serial2/0 Route netric is 74, traffic share count is 1

Rl#debug i p policy Policy routing debugging is on

*Dec 4 12:53:38.271: |P: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4, |len 100, policy match
*Dec 4 12:53:38.271: |IP: route nmap blah, item 10, pernit

*Dec 4 12:53:38.271: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 1/0), len 100, policy routed *Dec 4 12:53:38.271:

I P. Ethernet0/0 to Serial1l/0 10.10.10.2 *Dec 4 12:53: 38. 355:

I P: s=10.100.100. 3 (Ethernet0/0), d=10.200.200.4, len 100, policy match *Dec 4 12:53: 38. 355
IP: route map blah, item 10, permt *Dec 4 12:53: 38. 355:

I P: s=10.100. 100. 3 (Et hernet0/0), d=10.200.200.4 (Serial1/0), len 100, policy routed

*Dec 4 12:53:38.355: |P: Ethernet0/0 to Serial 1/0 10.10.10.2

*Dec 4 12:53:38.483: |P: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4, len 100, policy match
*Dec 4 12:53:38.483: |P: route nmap blah, item 10, pernit

R2#show i p route 10.100.100.3 Routing entry for 10.100.100.0/24 Known via "ospf 1",

di stance 110, netric 74, type intra area Last update from 10.20.20.1 on Serial 2/0,

00: 11: 42 ago Routing Descriptor Blocks: * 10.20.20.1, from 10.100.100.1, 00:11:42 ago,

via Serial2/0 Route nmetric is 74, traffic share count is 1 R2#debug ip policy

Policy routing debugging is on *Dec 4 12:53:38.691:



I P: s=10. 200. 200. 4 (Et hernet0/0), d=10.100.100.3, len 100, policy match *Dec 4 12:53: 38. 691:
IP: route map blah, item 10, permt *Dec 4 12:53:38.691: |IP: s=10.200.200.4 (Ethernet0/0),
d=10. 100. 100. 3 (Serial 1/0), len 100, policy routed

*Dec 4 12:53:38.691: |P: Ethernet0/0 to Serial1/0 10.10.10.1 *Dec 4 12:53:38.799

I P: s=10. 200. 200. 4 (Ethernet0/0), d=10.100.100.3, len 100, policy match

*Dec 4 12:53:38.799: |IP: route map bl ah, item 10, permt

*Dec 4 12:53:38.799: |P: s=10.200.200.4 (Ethernet0/0), d=10.100.100.3 (Serial1/0), len 100
policy routed

*Dec 4 12:53:38.799: |P: Ethernet0/0 to Serial1/0 10.10.10.1 *Dec 4 12:53: 38. 899

I P: s=10. 200. 200. 4 (Et hernet0/0),

d=10. 100. 100. 3, len 100, policy match

*Dec 4 12:53:38.899: |IP: route map blah, item 10, permt

E#R IP #hib MBR HH KA, X BIE R 1T RIEEEH,

*Dec 5 13:33:23.607: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:33:23.607: IP: route map bl ah, item 10, permt
*Dec 5 13:33:23.607: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 1/0),len 100, policy routed *Dec 5 13:33:23.607: |IP:. Ethernet0/0 to
Serial 1/0 10.10.10.2 *Dec 5 13:33:23.707: |IP: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:33:23.707: IP: route map blah, item 10, permt
*Dec 5 13:33:23.707: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 1/0),len 100, policy routed *Dec 5 13:33:23.707: |IP:. Ethernet0/0 to
Serial 1/0 10.10.10.2 *Dec 5 13:33:23.847: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:33:23.847: IP: route map blah, item 10, permt

Y Serial 1/0FO XA |, BAXRTFHERT—310.10.10.2 , BHIESTHER/EENEAHEK.

*Dec 5 13:40:38.887: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:40:38.887: IP: route map blah, item 10, permt
*Dec 5 13:40:38.887: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 2/0), len 100, policy rejected -- normal forwarding *Dec 5 13:40: 39. 047
I P: s=10.100. 100. 3 (Et hernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:40:39.047: IP: route map blah, item 10, permt
*Dec 5 13:40:39.047: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 2/0), len 100, policy rejected -- normal forwarding *Dec 5 13:40:39. 115
I P: s=10.100. 100. 3 (Et hernet0/0),

d=10. 200. 200. 4, |len 100, policy match *Dec 5 13:40:39.115: IP: route map blah, item 10, permt
*Dec 5 13:40:39.115: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 2/0), len 100, policy rejected -- normal forwarding

S HITHZE3 : A set ip default next-hopFIRRIA B 31T S MG 3%

RO EAUTERE !
R1

Rl#show runni ng-config

Bui | di ng configuration..

I

I interface Ethernet0/0 ip address 10.100.100.1 255.255.255.0 ip policy route-map blah ! interface Seri
i p address 10.10.10.1 255.255.255.0 ! interface Serial2/0 ip address 10.20.20.1 255.255.255.0 ! ip rout
0.0.0.0 0.0.0.0 10.20.20.2 ! ip classless no ip http server ! access-list 100 pernmt ip host 10.100.100
host 10.200.200.4 ! route-map bl ah permit 10 match ip address 100 set ip default next-hop 10.10.10.2

R2

R2#show runni ng-config
Bui | di ng configuration..
!

I

interface Ethernet0/0



i p address 10.200.200.2 255. 255.255.0
ip policy route-map bl ah

interface Serial1/0
i p address 10.10.10.2 255.255.255.0

fair-queue
I

interface Serial 2/0
i p address 10.20.20.2 255.255.255.0

iproute 0.0.0.0 0.0.0.0 10.20.20.1

I
ip classless

no ip http server

access-list 100 permt

i p host 10.200.200.4 host 10.100.100.3

route-map blah permt 10
match i p address 100

set
!

end

ip default next-hop 10.10.10.1

Wi RG34 3
£ A #n Sset ip default next-hopBY , ZEiA B FRAVME— BRI RN H ( BMEARTIREZERNE

EE ) BT,

HERHITRIEMEH.

Rl#show i p route 10.200. 200. 4

% Net wor k not

R1#

in table

Rl#show ip route 0.0.0.0

Routing entry for 0.0.0.0/0,
Known via "static",
Rout i ng Descri ptor

* 10. 20. 20. 2
Route metric

R1#
*Dec

count

4 12:58:55.191:
d=10. 200. 200.
*Dec 4 12:58:
d=10. 200. 200.
Serial 1/0 10.
d=10. 200. 200.
*Dec 4 12:58:
d=10. 200. 200.
Serial 1/0 10.
d=10. 200. 200.
*Dec 4 12:58:
d=10. 200. 200.
Serial 1/0 10.
0.0.0.0 Routing entry for 0.0.0.0/0,
candi date default path Routing Descriptor
is 1 R2# *Dec 4 12:58:20.819:
12:58: 55. 611:
d=10. 100. 100.
*Dec 4 12:58:

super net
di stance 1, nmetric O,
Bl ocks:

candi date default path

is 0, traffic share count is 1

I P: s=10.100. 100. 3 (Et hernet0/0),

4, len 100, policy nmatch *Dec 4 12:58:55.191:
55.191: IP: s=10.100.100.3 (Ethernet0/0),

4 (Serial1/0), len 100, policy routed *Dec 4 12:58:55.191: IP: Ethernet0/0 to
10.10.2 *Dec 4 12:58:55.291: |P: s=10.100. 100.3 (Ethernet0/0),

4, len 100, policy match *Dec 4 12:58:55.291: IP: route map bl ah,
55.291: IP: s=10.100.100.3 (Ethernet0/0),

4 (Serial1/0), len 100, policy routed *Dec 4 12:58:55.291: IP: Ethernet0/0 to
10.10.2 *Dec 4 12:58:55.391: | P: s=10.100. 100. 3 (Ethernet0/0),

4, len 100, policy match *Dec 4 12:58:55.391: IP: route map bl ah,
55.391: IP: s=10.100.100.3 (Ethernet0/0),

4 (Serial1/0), len 100, policy routed *Dec 4 12:58:55.391: IP: Ethernet0/0 to

10. 10. 2 R2#show i p route 10.100.100.3 % Network not in table R2#show ip route

supernet Known via "static", distance 1, netric O,

Bl ocks: * 10.20.20.1 Route metric is 0, traffic share

UBYS-5- CONFI G_| : Configured from consol e by console *Dec 4
I P: s=10. 200. 200. 4 (Et hernet0/0),

3, len 100, policy match *Dec 4 12:58:55.611:

55.611: I P: s=10.200.200.4 (Ethernet0/0),

I P: route map blah, item 10, permt

item 10, permt

item 10, permt

| P:

route map blah, item 10, permt



d=10. 100. 100. 3 (Serial 1/0), len 100, policy routed *Dec 4 12:58:55.611: |P: Ethernet0/0 to
Serial 1/0 10.10.10.1 *Dec 4 12:58:55.739: |P: s=10.200.200.4 (Ethernet0/0),

d=10. 100. 100. 3, len 100, policy match *Dec 4 12:58:55.739: IP: route map blah, item 10, permt
*Dec 4 12:58:55.739: |P: s=10.200.200.4 (Ethernet0/0),

d=10. 100. 100. 3 (Serial 1/0), len 100, policy routed *Dec 4 12:58:55.739: |P: Ethernet0/0 to
Serial 1/0 10.10.10.1 *Dec 4 12:58:55.799: |P: s=10.200.200.4 (Ethernet0/0),

d=10. 100. 100. 3, len 100, policy match *Dec 4 12:58:55.799: IP: route map blah, item 10, permt
*Dec 4 12:58:55.799: |P: s=10.200.200.4 (Ethernet0/0),

d=10. 100. 100. 3 (Serial 1/0), len 100, policy routed *Dec 4 12:58:55.799: |P: Ethernet0/0 to
Serial 1/0 10.10.10.1

AIABEH BT Serial 2/0 XA M AFER , WHESHITREEIEH.

Rl#show ip route 0.0.0.0

% Network not in table

R1#

*Dec 5 13:02:31.283: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:02:31.283: IP: route map blah, item 10, permt
*Dec 5 13:02:31.283: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 1/0),len 100, policy routed *Dec 5 13:02:31.283: |IP: Ethernet0/0 to
Serial 1/0 10.10.10.2 *Dec 5 13:02:31.375: |IP: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:02:31.375: IP: route map blah, item 10, permt
*Dec 5 13:02:31.375: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 1/0),len 100, policy routed *Dec 5 13:02:31.375: |IP:. Ethernet0/0 to
Serial 1/0 10.10.10.2 *Dec 5 13:02:31.435: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 13:02:31.435: IP: route map blah, item 10, permt
*Dec 5 13:02:31.435: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 1/0),len 100, policy routed *Dec 5 13:02:31.435: |IP:. Ethernet0/0 to
Serial 1/0 10.10.10.2

£ Serial2/0 3TFF H# B Serial 1/0 XAWERT , RIMAFA T —HRHAEBESERZBE X (BHEX
) - %Hﬁ'*ﬁ}ﬁéﬁo

Rl#debug ip policy

Pol i cy routing debugging is on

R1#

*Dec 5 12:46:49.543: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 12:46:49.543: IP: route map blah, item 10, permt
*Dec 5 12:46:49.543: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 2/0),len 100, policy rejected -- normal forwarding *Dec 5 12:46:49. 623

I P: s=10.100. 100. 3 (Et hernet 0/ 0),

d=10. 200. 200. 4, len 100, policy match *Dec 5 12:46:49.623: IP: route map blah, item 10, permt
*Dec 5 12:46:49.623: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 2/0),len 100, policy rejected -- normal forwarding *Dec 5 12:46:49. 691

I P: s=10.100. 100. 3 (Et hernet0/0),

d=10. 200. 200. 4, |len 100, policy match *Dec 5 12:46:49.691: IP: route map blah, item 10, permt
*Dec 5 12:46:49.691: |P: s=10.100.100.3 (Ethernet0/0),

d=10. 200. 200. 4 (Serial 2/0),len 100, policy rejected -- normal forwarding

HRfER
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https://www.cisco.com/c/zh_cn/support/index.html?referring_site=bodynav
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